2025 R U-1084RE (FAIYYRR=Y) HHEHE

]
# H ®M7F6H28H~29H [©) B B T AT TER
AJ—F/11:00
= 5 ERTESRERIHS BNNE 2 - 0 SRR BREFCY1=7
17 -0
PK 3 FAVI—FHYH—I5T
H FAML @y yh—ZR—YPER
(7]
BI—K/11:00
o - 1
A3—K/9:30 2 -7 BI—h/9:30
4 -2 PK 17 - 0
6H158 1 - 1 1 - 1
..................... SO N SR o\ SR P
68148
S 3
Ad—K~/11:10 Ad—k/12:00 Ad—K/14:30 Ad—k/15:20
4 - 1 1 -0 7 - 0 -0
2 -1 2 -1 2 - 0 -0
PK PK PK 0 PK 2
[@) [©) [©) D 2
AJ—F/9:30 Bd—k~/9:30 AJ—k/10:20 BI—K/10:20 AJ—k/12:50 AJ—K/13:40 BI—k/13:40
4 - 0 2 - 2 0 - 0 0 - 1 3 -0 1 -0 1 -3
7 - 0 1 -1 1 -2 1 -0 2 -0 1 -0 0 - 0
PK 2 PK 3 PK 2 PK 3 PK PK PK
B FTEES 5 B4 87 FEET B2 HEE4 3 HEE3 ®rEo
*7 = 3 H = [N R 3
€ W + T # = i F Mo H
> I B 5 + % £ e c T - S
Z N *?‘ o v u v v J a
7 B B = fi# - _
| Y Y = H N H H
I s L 7 @ 7 T i F I i c F i Z 7
i i i | = ! S 2 ¢ T 2 ° ¢ 2 7 o
B F B % 2 % c ® H E ® l = ® ’ v
v C S w S ® - I a | m B | - A
El C | S | J —_ D F
- S v v r Y = . Y € Y |
> 1 B B P b F » n 5 c v
-3 = F F F C F a F >
L7 | L 7 L L L& | L | L | L& | L1 1 = L1 [Z]
® @ ®
BI—k/11:10 BI—~/12:00 BI—+/14:30 BI—+/15:20
[REEAERUVEHEIE]  6/28(X)X&¥H
FERZEERERM S EMNEE (Ad—k/36R) # ¥ B FERZEERERNSENLE (BO—~/Ffll) # ¥
BB i i o 90 HES usr 530 B8RS R ? ® 12 5|2 usr
EVFFA AT 1= TEN 9 HETFC e : FIIS—LABISCT =T ELRPvA—IK—YDER e
PK 2 PK 3
B4 ; ? ) g ,|BHE3 s 1020 BT ] (1) @ 2) 1| FEET s
Wi B4 . — . e 2y B4
BAHSSS PR WYY H—RR—Y D ER =J)IISCjr 5 1B TS Bty h—RR— YD E
DOBE 64; 5 1 |eomE az | 1110 DOBE 3$ o |1.|e08E .
EVFTAAURI1ZTER PR EERYVA—RR—YDER o ’ 1HETFC B 3 HIVINN—L#IBISCY1 =7 A
OOBE 3; 2 ? J[@omE us | 1200 BOBE 21 (2) |@onE .
BIE TRV HER 5% By N—2R—YHER = : #HSSS Sty =)ISCjr =
BE2 53 ° 8 NEEZ u | 1250 A 08 © <2) |FE2 s
BEFCY1=7 5% & FUNITED.FC = 2 [y h—2m—vpER 50 FC colmena =
B3 S o [0 |FES w6 e B
i 0 ! w5 | 13:40 L 0 0 o | s
FCRE PK REYYH—RR—YDEF B3V TFFC B FHI1ZFHYA—05T
QNBE 9 Z ® ? 3 DA u: 1430 QNHE R ‘g‘ @ (1) R ODBE .
BEFCY1=7 5% FC colmena = : £ FUNITED.FC 50 Y A= 2R —YDER >
ODBE 0 0i |RopsE OD¥E 1 1i_ | QD¥E
o ® [o wg | 15:20 2 % e 5
FCRB CT PR o] FETATT =057 = : REHYN—RK—VDER s IS5V FFC =




(B ERERUEHEIZ]

6/29(H)X==HE

EAZSEERBZENLE (AJ—H/4tA) Z2H | BE ERZERERMSENGE (Bd—Hmfl) =¥
ONEE 4 2 | ODBEE BOBE 1 0: . |BDEE

5. @ |- 3 . 2 b ® - 1 e
et A — 1 1 . EEA 9:30 e 1 1 N | s

EVFFAAURIA=TER Bi WYY H—RR—YDER BHEFCI1=Z7 B FHY1ZFHYA—5T

A=\ 10:15 19—\

ODRE 32 @ |9 BDBE ss | 100 ONEE 59 @ s BNEE "
TR e sic 0 BEFCI1=7 = : BB IN—ZR—YDER |2 s T emya=rron—s57 e

11:50




